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Run ID Time User name Problem Language Result Tests Score
19 0:12:42 inf24f 247 1 g++ 0K 28 100

128 0:56:36 inf24f_ 247 2 g++ Partial solution 19 64

663 3:55:52 inf24f 247 3 g++ Partial solution 3 O

636 3:52:35 inf24f_ 247 4 g++ Partial solution 6 25

332 2:10:35 inf24f_247 5 g++ OK 22 100

473 3:11:38 inf24f 247 6 g++ 0K 11 100

389 Texmmueckux 6ainnos

64 uroroBhx 6amnma



IToceinka 1o 3amaye 1

[1] #include <bits/stdc++.h>

[2]

[3] using namespace std;

[4]

[5] #define int long long

[6] #define all(x) x.begin(), x.end()
[7] #define pb push_back

[8] #define sz(x) (int)x.size()

(2]

[1e]

[11] const int INF = (int)lel5;

[12]

[13] void solwve() {

[14] vector <int> bro = {1, 2, 4, 8};
[15] while (bro.back() < (int)lel4d) {
[16] int n = sz(bro);

[17] int val = bro[n - 1] + bro[n - 2] + bro[n - 3] + bro[n - 4];
[18] bro.push_back(val);

[12] 1

[28] int n;

[21] cin »>> n;

[22] int ans = @;

[23] for (int 1 = @; 1 < n; i++) {
[24] int x;

[25] cin »> x;

[26] int ent = @;

[27] for (int j = (int)bro.size() - 1; J >= @; j--) {
[28] if (x »= bro[j]) {

[29] x -= bro[j];

[38] cnt++;

[31] b

[32] L

[33] ans += (cnt % 2 == 8);

[34] Jlcout << x << ™ "

[35] ¥

[36] cout << ans << "\n";

(371}

[38]

[39] signed main() {

[40] freopen("input.txt", "r", stdin);
[41] freopen("output . txt", "w", stdout);
[42]

[43] ios_base::sync_with_stdio(false);
[44] cin.tie(®);

[45] cout.tie(®);

[46]

[47] int t = 1;

[48] while (t--) {

[49] solve();

[5e] }

[51]}



IToceinka 1o 3amayve 2

[1] #include <bits/stdc++.h>

[2]

[3] using namespace std;

[4]

[5] #define int long long

[6] #define all(x) x.begin(), x.end()

[7] #define pb push_back

[8] #define sz(x) (int)x.size()

[e]

[1e]

[11] const int INF = (int)lels5;

[12]

[13] bool cmp(string a, string b) {

[14] for (int i = 8; i < 14008; i++) {
[15] if (a[i] < b[i])

[16] return true;

[17] 3

[18] return false;

(197}

[20]

[21] void solwe() {

[22] string s;

[23] cin »> s;

[24] int 1vl = 8;

[25] int ent = 8;

[26] long double term = 1;

[27] map <char, string> bro;

[28] vector <int> st;

[29] st.push_back(@);

[3e]

[31] for {(int 1 = 8; i < sz(s); i++) {
[32] if (s[i] == "Q") {

[33] st.push_back(@);

[34] Ivl++;

[35] term = (double) term / 8;
[36] } else {

[37] if (bro.find(s[i]) == bro.end()) {
[38] bro[s[i]] = string(14686, '@');
[39]

[48] string &t = bro[s[i]];
[41] int ind = 1vl * 3;

[42] while (t[ind] == '1') {
[43] t[ind] = '@";

[44] ind--;

[45] by

[46] t[ind] = "1°;

[47]

[48] st.back()++;

[49] J//cout << € << "\n" << mx << "\n";

[se]



[51] while (st.back() == 8) {

[52] term *= B;

[53] 1vl--;

[54] st.pop_back();

[55] st.back()++;

[56] 3

[57] ¥

[58]

[59] char c;

[e@] string mx = string(l4@e@, '9');
[61]

[62] for (auto el : bro) {

[63] if (cmp(mx, el.second)) {
[64] mx = el.second;

[65] c = el.first;

[e6] 3

[67] ¥

[68] cout << c << "\n";

[69]

[7e] cout << mx[8] << ".";

[71] while (sz(mx) > 2 && mx.back() == "@') {
[72] mx.pop_back();

[73] 3

[74] for (int 1 = 1; 1 < sz(mx); i++) {
[75] cout << mx[1];

[76] T

[77] cout << "\n";

(7817}

[79]

[82] signed main() {

[81] freopen("input.txt", "r", stdin);
[82] freopen("output.txt", "w", stdout);
[83]

[84] ios_base::sync_with_stdio(false);
[85] cin.tie(@);

[86] cout.tie(@);

[87]

[88] int t = 1;

[89]  while (t--) {

[ee] solve();

[91] ¥

re21t
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[1] #include <bits/stdc++.h>
[2]

[3] using namespace std;

(4]

[5] #define all(x) x.begin(), x.end()
[6] #define pb push_back

[7] #define sz(x) (int)x.size()
(8]

[l

[18] //const int INF = (int)lel5;
[11] vector <vector <int>> a;
[12] int n, m;

[13]

[14] int calc(int col, int rl, int r2, int r3) {
[15] set <int>» lox = {rl, r2, r3};
[16]

[17] int ans = 8;

[18] for (auto el : lox) {

[19] ans += al[el][col];

[28] T

[21] return ans;

(221}

[23]

[24] bool ok(int i) {

[25] return 1 »>= @ && 1 < n;
[26]}

[27]

[28] void solwve() {

[29] int n;

[3e] cin >> n;

[31] for (int 1 = @; 1 < n; i++) {
[32] string s;

[33] cin »> s;

[34]

[35] }

[36] if (n == 2) {

[37] cout << "i\ni(";

[38] } else if (n == 3) {

[39] cout << "i(\ni((";

[48] 1} else {

[41] cout << "i\nI";

[42] }

(431}

[44]

[45] signed main() {

[46] freopen("input.txt", "r", stdin);
[471] freopen("output . txt", "w", stdout);
[48]

[49] ios_base::sync_with_stdio(false);
[se] cin.tie(@);

[51] cout.tie(@);

[52]

[53] int t = 1;

[54]  while (t--) {

[55] solve();

[6] 3}

(571}
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[1] #include <bits/stdc++.h>

[2]

[3] using namespace std;

[4]

[5] #define all(x) x.begin(), x.end()
[6] #define pb push_back

[7] #define sz(x) (int)x.size()

(8]

fe]

[18] //const int INF = (int)lels;

[11] vector <vector <int»> a;

[12] int n, m;

[13]

[14] int calc(int col, int rl, int r2, int r3) {
[15] set «<inty lox = {rl, r2, r3};
[16]

[17] int ans = @;

[18] for (auto el : lox) {

[19] ans += a[el][col];

E

[21] return ans;

[22]}

[23]

[24] bool ok(int i) {

[25] return 1 »= @ &% i < n;
[26]}

[27]

[28] void solve() {

[29] cin >> n >> m;

[38] int rl, r2, r3;

[31] cin »> rl »> r2 »» r3;

[32] a.assign(n, vector <int> (m, @));
[33] for (int 1 = @8; 1 <« n; i+) {
[34] for (int j = @; j < m; j++) {
[35] cin »» a[i][]];

[36] }

[37] ¥

[38]

[39] vector <vector <vector <vector <int»>>> dp(m, vector <vector <vector <int>»> (n, vector <vector <int»> (n, vector <int> (n, @))));
[40]

[41]

[42] dp[@][r1][r2][r3] = calc(@, rl, r2, r3);

[43] Jlcout << dp[@][r1][r2][r3] << "\n";

[44] int ans = @;

[45] for (int col = 1; col < m; col++) {

[48] for (int i =@8; 1 < n; i++) {

[47] for (int j = 8; j < n; j++) {

[48] for (int k = 8; k < n; k++) {

[49] for (int di = -1; di <= 1; di++) {

[5e] for (int dj = -1; dj <= 1; dj++) {
[51] for (int dk = -1; dk <= 1; dk++) {
[52] int ni = i + di;
[53] int nj = j + dj;
[54] int nk = k + dk;
[55]
[
[

56] if (lok{ni) || 'ek(nj) || lok{nk))
57] continue;

[58] /icout << ni << " " << nj <<
[59] int val = calc(col, 1, j, k);
%“’% } dp[col][1][§1[k] = max(dp[col][1][§1[k], dplcol - 11[nil[nj1[nk] + val);
61
[
[

<< nk << "\n";

62] }

63] }

[64] if (col ==m - 1) {

[65] ans = max{ans, dp[col][i][j][k]);
[66] h

[67] ¥

[68] }

[69] h

[7e]
[71] cout << ans << "\n";
(721}
(73]
[74] signed main() {

[75] freopen("input.txt", "r", stdin);
78] freopen("output.txt™, "w", stdout);
77]

78] ios_base::sync_with_stdio({false};
79] cin.tie(@);

ge] cout.tie(@);

(81]

[82] int t = 1;

[83] while (t--) {

[84] solve();

(85]

rselt
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[1] #include <bits/stdc++.h>
[2]

[3] wusing namespace std;

[4]

[5] #define all(x) x.begin(), x.end()
[6] #define pb push_back

[7] #define sz(x) (int)x.size()
(8]

[9] «const int INF = (int)1el5;
[18] wvector <vector <int>> a;
[11] int n, m;

[12]

[13] int calc(int col, int ril, int r2, int r3) {
[14] set <int>» lox = {rl, r2, r3};
[15]

[15] int ans = 8;

[17] for (auto el : lox) {

[18] ans += a[el][col];

[19] 3

[28] return ans;

[21] %

[22]

[23] bool ok(int i) {

[24] return 1 >= 8 &% 1 < n;

[25] }

[26]

[27] wvoid solve() {

[28] string s;

[29] cin »> s;

[3e] string t;

[31] cin »> t;

[32] int 1 = @;

[33] int r = sz(s);

[34] map <char, int» cnt2;

[35] for (auto el : t) {

[36] cnt2[el]++;

[37] )

[38]

[39] while (r - 1 > 1) {

[48] intm= (r+ 1) / 2;

[41] map <char, int> cnt;

[42]

[43] bool f = false;

[44]

[45] for (int 1 = @; i < sz(s); i++) {
[46] cnt[s[i]]++;

[47]

[48] if (i >=m - 1) {

[49] bool f1 = true;

[50] for (auto el : cnt2) {
[51] if (cnt[el.first] < el.second) {
[52] f1 = false;
[53] break;

[54] }

[55] h

[56] cnts[i - m+ 1]]--;



[57]

[58] if (f1) {
[59] f = true;
[60] break;
[61] I

[62]

[63] }

[64] ¥

[65]

[66] if (f) {

[67] ro=m;

[68] T else {

[69] 1=
[7e] L
(711}

[72]

[73] map <char, int> cnt;

[74] string ans = "";

[75] for (int 1 = @; 1 < sz(s); i++) {

[76] ent[s[1]]++;

[77] if (i >=r - 1) {

[78] bool f1 = true;

[79] for (auto el : cnt2) {

[8a] if (cnt[el.first] < el.second) {
[81] fl = false;

[82] break;

[83] }

[84] }

[85]

[86] if (f1) {

[87] ans = s.substr(i - r + 1, r);
[88] break;

[89] }

[ge]

[91] cnt[s[i - r + 1]1]--;

[92] }

[93] b

[94]

[95] cout << ans << "\n";

[9e]

(971 %

[98]

[99] signed main() {

[188] freopen("input.txt", "r", stdin);

[1e1] freopen("output.txt”, "w", stdout);
[102]

[183] ios_base: :sync_with_stdio(false);

[184] cin.tie(@);

[185] cout.tie(®);

[106]

[107] int £ = 1;

[1e8] while (t--) {

[189] solve();

[11e] }

[111] }

m3



ITocerika o 3aJade 6

[1] #include <bits/stdc++.h>
[2]

[3] wusing namespace std;

[4]

[5] #define all(x) x.begin(), x.end()
[6] #define pb push_back

[7] #define sz(x) (int)x.size()
(8]

[9] «const int INF = (int)lel5;
[18] wector <vector <int>> a;
[11] dint n, m;

[12]

[13] int calc(int col, int rl, int r2, int r3) {
[14] set <int> lox = {rl, r2, r3};
[15]

[16] int ans = 8;

[17] for (auto el : lox) {

[18] ans += alel][col];

[19] }

[28] return ans;

[21] 1}

[22]

[23] bool ok(int i) {

[24] return 1 >= 8 & 1 < n;

[25] }

[26]

[27] bool check{vector <vector <int>> &a, int j1, int 3j2) {
[28] for (int i = @; i < sz(a); i++) {
[29] if (a[il[31] != alillj2D)
[3e] return false;

[31] }

[32] return true;

[33] 1}

[34]

[35] woid solve() {

[36]

[37] string s;

[38] vector <vector <vector <int»>> bro;
[39] map <string, int> used;

[48] vector <int> top;

[41] set <string> ord;

[42] while (getline(cin, s)) {

[43] string id;

[44] int i = B;

[45] vector <int> a;

[46] while (s[i] != ";') {

[47] id.push_back(s[i]);
[48] i++;

[49] ¥

[58] i++;

[51] ord.insert(id);

[52] string tmp = "";

[53] for (; 1 < sz(s); i++) {
[54] if ((int)(s[i]) == 39 || s[i] == '7")
[55] continue;

[56] if (s[il '= *5") o

[57] tmp.push_back(s[i]);
[58]

[59] T else {

[68] if (tmp == "OK") {
[61] a.push_back(1);
[62] } else {

[63] a.push_back(@);
[64] ¥

[65] tmp = "";

[66] ¥

[67] 3

[68] if (tmp == "OK") {

[69] a.push_back(1);

[7@] } else {

[71] a.push_back(@);

[72] 3



[73]
[74]
[75]
[76]
[77]
[78]
[79]
[8@]
[81]
[82]
[83]
[84]
[85]
[86]
[87]
[88]
[89]
[9e]
[91]
[92]
[93]
[94]
[95]
[96]
[97]
[98]
[99]
[108]
[101]
[192]
[103]
[104]
[105]
[106]
[107]
[108]
[199]
[11e]
[111]
[112]
[113]
[114]
[115]
[116]
[117]
[118]
[119]
[120]
[121] }
[122]

for

for

if (used.find(id) == used.end()) {
bro.emplace_back(vector <vector <int>> ()});
top.push_back(@);
used[id] = sz(bro) - 1;

}

bro[used[id]].push_back(a);
top[used[id]] = max(top[used[id]], sz(a));

(int i = 8; 1 < sz(bro); i++) {
[/cout << 1 << " \n";
for (auto &l : bro[i]) {
while (sz(el) < top[i]) {
el.push_back(@);
1
}
/%
for (auto el : bro[i]) {
for (auto ell : el) {

cout << ell << " ";
1
cout << "\n";
1
cout << "\n";
#/

(auto el : ord) {

vector <vector <int>> &a = bro[used[el]];
set <string> lox;

int cnt = 8;

for (int j = ©; j < sz(a[@]); j++) {
string z;
for (int 1 = 9; i < sz(a); i++) {

z.push_back(char(a[i][j] + '©"'));

}
lox.insert(z);

}

int val = top[used[el]];

cout << val << " " << sz(lox) << "\n";

[123] signed main() {

[124]
[125]
[126]
[127]
[128]
[129]
[13@]
[131]
[132]
[133]
[134]
[135]
[136]
[137]
r1ss]t

freopen("input.txt", "r", stdin);
freopen("output.txt", "w", stdout);

ios_
cin.

base::sync_with_stdio(false);
tie(@);

cout.tie(®);

int

t = 1;

while (t--) {

¥

solve();

10



